(20194F4~ 65 H3- FIEERHALE)

XATHEA : 2019.1~3, S8 1 2019.4~6. K8 : 2019.7~9REL

[EIERZELR 550 Z Bt ZE (%) YR Z Bt RED 1 (IF&n—E{b)
HIHA 0 7 1 EILE] 0 87.5 12.5 EILE] -12.5
fEHES St 0 8 o| Beez St 0 100 o| =& St 0.0
SRHA 2 6 0 SRHA 25 75 0 SRHA 25.0
BUHEA 0 5 3 BUHEA 0 62.5 37.5 BUHEA -37.5
S5 S 0 6 2| mEX 7 0 75 25| HiEx 7 -25.0
SRHA 0 4 4 SRHA 0 50 50 SRHA -50.0
HIHA 1 7 2 EILE] 10 70 20 HIHA -10.0
ULt St 3 6 2| /s St 27.3 54.5 18.2| /5 St 9.1
SRHA 0 9 2 SEHA 0 81.8 18.2 SRHA -18.2
BUHEA 2 3 5 BUHEA 20 30 50 BUHEA -30.0
Y% &2 1 4 5| H—E2% &2 10 40 50| H—ExZ S -40.0
SRHA 1 3 6 SRHR 10 30 60 SRHR -50.0
AR 1 3 2 AR 16.7 50 33.3 HIEA -16.6
il e St 0 3 2| ENSEE St 0 60 40| #5EEE St -40.0
SRHA 0 4 1 SEHA 0 80 SRHA -20.0
BUHEA 4 25 13 BUHEA 9.5 59.5 BUHEA -21.5
7 4 27 S 9.5 64.3 S -16.7
SEHA 3 26 SEHA 7.1 61.9 SEHA -23.9
RED 1 (FFE—Bi(L)
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